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QUESTION 1

If unicast mode is configured for the overlay transport in an NSX deployment, which two statements correctly define the
network support that is required? (Choose two.)

A. Configure NSX High Availability.
B. Layer 2 switching support in the access and distribution layers
C. Layer 3 switching support in the access and distribution layers
D. Configure Jumbo Frame support

Correct Answer: CD

QUESTION 2

Which two characteristics of the underlying physical network does VMware NSX require for robust IP transport?
(Choose two.)

A. The physical network should provide scalable network I/O using Layer 2 Multipathing (L2MP) and Multichassis Link
Aggregation (MLAG).

B. The physical network should provide scalable network 1/0 using Equal Cost Multipathing (ECMP).
C. QoS is not necessary since classification and marking will be done in the overlay.
D. QoS classification and marking is required to provide end-to-end flow control.

Correct Answer: BD

QUESTION 3

Which two options are use cases of Layer 2 bridging in NSX for vSphere? (Choose two.)

A. Extend the network security to physical devices in the physical network by use of the Distributed Firewall.
B. Extend physical services to Virtual Machines in virtual network.

C. Allow clustering of multiple NSX Managers in a single vCenter Server instance.

D. Allow physical devices in the physical network to use the NSX Edge Gateway as a default router.

Correct Answer: BD

QUESTION 4

A company wants to deploy VMware NSX for vSphere with no PIM and no IGMP configured in the underlying physical
network. This company also must ensure that non-ESXi hosts do not receive broadcast, unknown unicast or multicast
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(BUM) traffic.

Which replication mode should the logical switches be deployed with?
A. Unicast Replication Mode

B. Multicast Replication Mode

C. Hybrid Replication Mode

D. Transport Zone Mode

Correct Answer: A

QUESTION 5

An administrator needs to verify which port the switch manager is using. Which command should be used?
A. show controller-cluster status

B. show controller-cluster core stats

C. show controller-cluster connections

D. show controller-cluster logical-switches

Correct Answer: C
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